
HANDLING MONEY
CONTENT DOMAIN REFERENCES:
M1, M9

KS2 SATS
PRACTICE QUESTIONS BY TOPIC

1 2 3 4 5 6 7 8 9 10

Monica has these coins.

5

10

15

Y7/07/Ma/Levels 3–4/P2 3 

Coins, Finding fractions

1   Which of these coins make exactly £1.10?

Tick ( ) them.

1 mark

2   Look at the shape.

  What fraction of the shape is shaded?

  

1 mark
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Using only these coins, she gives Marcus exactly £1.10?

Which coins does she give to Marcus?

HANDLING MONEY
CONTENT DOMAIN REFERENCES:

KS2 SATS
PRACTICE QUESTIONS BY TOPIC

1 2 3 4 5 6 7 8 9 10

Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

[1 mark]

1

1
[2012]

 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1 mark]

2

2
[2011]
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[1 mark]

1
1

[Extra] Write in the missing numbers.

45 + = 110

(4 t 5) – = 12

60 t 3 =

Write these amounts of money in order of size, starting
with the smallest amount.

smallest

2

2

1 mark

1a

1 mark

 1b

1 mark

1c

1 mark

1

£5.40

£0.65

72p

£10

£2.88

2

[1 mark]

2
2

[2001]
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Pat saves 50p coins.

She has saved £7.50

How many 50p coins make £7.50?

5

10

15

Callum saves 20p coins.

He needs £5
So far, he has saved £2.80

How many more 20p coins does he need to make £5?

[1 mark]

3
3

[Extra]

 7 Total out of 4

Here are five coins.

5

1 mark

Stefan takes two coins and Lara takes the other three coins.

Stefan takes 15p more than Lara.

Tick ( ) the two coins Stefan takes.

5

Here are four shapes.

A B C D

They can be fi tted together in a straight line so that there are 
no gaps between them.

Write the order of the letters of the shapes when they all fit together.

6

1 mark

6
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[1 mark]

4
4

[2009]

Pat saves 50p coins.

She has saved £7.50

How many 50p coins make £7.50?

5

10

15

Callum saves 20p coins.

He needs £5
So far, he has saved £2.80

How many more 20p coins does he need to make £5?

[1 mark]

5
5

[Extra]



Emily has these coins.

5

10

15

 10

Emily has these coins.

How much more money does Emily need to make exactly £5?

 
£

 
7a

1 mark

Nisha has thirty 5p coins and twenty 10p coins.

How much money does she have altogether?

 
£

 
7b

1 mark

 

7
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[2 marks]

7

7
[2008]

 How much more money does Emily need to make exactly £5 ?

Nisha has thirty 5p coins and twenty 10p coins.

How much money does she have altogether?

[2 marks]

6
6

[2008]

 4

Write these prices in order, starting with the smallest.

 
72p £2.70 £0.27 £7.20 £2.07

   
 

smallest

 

1

1 mark

 

 

1

Amy chooses two of these cards.

11 23 33 43

She adds the numbers on her two cards together. 
She rounds the result to the nearest 10

Her answer is 60

Which two cards did Amy choose?

  and  2

1 mark

2

[1 mark]

7
7

[2010]



Mina chooses her coins first.

Seb takes the rest of the coins.

Which coins could Mina choose?

5

10

15

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Total

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?

Draw two more straight lines to make a rectangle.

Use a ruler.

7

6

1 mark

7

1 mark

6

5

[1	mark]

9

9
[2001]

 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1	mark]

10

10
[2011]

Total

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?

Draw two more straight lines to make a rectangle.

Use a ruler.

7

6

1 mark

7

1 mark

6

5

[1	mark]

9

9
[2001]

 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1	mark]

10

10
[2011]

Mina and Seb share these coins so that the each have the same 
amount of money.

Total

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?

Draw two more straight lines to make a rectangle.

Use a ruler.

7

6

1 mark

7

1 mark

6

5

[1	mark]

9

9
[2001]

 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1	mark]

10

10
[2011]

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins
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[1	mark]

1

1
[2012]

 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1	mark]

2

2
[2011]
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[1 mark]

8
8

[2012]

Total

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?

Draw two more straight lines to make a rectangle.

Use a ruler.

7

6

1 mark

7

1 mark

6

5

[1 mark]

9
9

[2001]



 6

Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.  

   

4

1 mark

 
    

4

Here are six shapes on a square grid. 

A B

C

FE
D

 

Write the letters of all the shapes that are squares.

  
5

1 mark

5

[1 mark]

10
10

[2011]

Tom has more money than Rifat.

How much more?

5

10

15

Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

Tom has more money than Rifat.

How much more?

5

10

15

Y7/05/Ma/Levels 3–4/P1 5

Coins

Tom has more money than Rifat.

How much more?

p

4

2 marks

Tom’s coins Rifat’s coins

Tom’s coins Rifat’s coins

[1 mark]

11
11

[Extra]



4

1 Write these prices in order from smallest to largest.

99p £10.50

£0.75 £9 £2.05

smallest largest

2

64 32 16 8 4 2 1

Circle the numbers that add up to 100

1

1 mark

2

1 mark

[1 mark]

12
12

[2005]

Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

[1 mark]

13
13

[2012]

Page 8 of 24  2

In these calculations, each missing sign is a + or a –

Write the missing signs in the circles.

  8  7  6  5 = 2  
6a

1 mark
 

  8  7  6  5 = 4  
6b

1 mark
 

6
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Megan has 7 coins that make one pound.

The coins are of only two different kinds.

What are the 7 coins?

       
7

1 mark

7
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[1 mark]

14
14

[2014]



Total out of 57

Here is a grid with eight squares shaded in.

Shade in two more squares to make a symmetrical 
pattern.

7

Each of these bags contains £1.60

Each bag contains only one type of coin.

Complete this table to show how many coins are in 
each bag.

One has been done for you.

8

7

1 mark

8

1 mark

[1 mark]

15
15

[2003]

 8 

Here are some amounts of money.

Circle all the amounts that can be made with three coins.

 71p 72p 73p 74p 75p  
7

1 mark

7

Here are five diagrams.

Look at each one.

Put a tick ( ) on the diagram if exactly 1
2

 of it is shaded.
Put a cross ( ) if it is not.

 

8i

8ii

2 marks

  

8
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[1 mark]

16
16

[2007]



10 1

The table shows the cost of a new football kit.

 
 

Item Cost

Shirt £8.75

Shorts (1 pair) £5.95

Socks (1 pair) £4.15

  

8

M0850        Num N4a N3j                                            L4  

Altogether, how much does the complete football kit cost?

 
£

 

£8.7
5

£4.1
5

£5.9
5

8

1 mark
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 1

Here are some sentences about an amount of money.

Mark each sentence with a tick ( ) if it is correct.
Put a cross ( ) if it is not correct.

One has been done for you.

£1.03 can be made with exactly 1 coin.

£1.03 can be made with exactly 2 coins.

£1.03 can be made with exactly 3 coins.

£1.03 can be made with exactly 4 coins.

 

9

9

1 mark

M0838_2  –  5 December 2012 1:27 PM – Version 2

[2 marks]

17
17

[2013]
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Write the two missing digits.

1 – 2 = 34
 

15

1 mark

15

M003510  –  13 August 2014 3:50 PM – Version 2

Liam has five coins.

Three of the coins add up to 30p.

Three of the coins add up to 40p.

All five coins add up to £1

What are the coins that Liam has?

p
 

p
 

p
 

p
 

p
 

16

1 mark

16
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[1 mark]

18
18

[2015]


